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AT - 1/PART - 1
99 fa@g ©d RIEneme/ CHILD DEVELOPMENT AND PEDAGOGY
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Direction : Answer the following questions by selecting the most appropriate option.
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1.

To cooperate the adolescent it is
essential to

(1) Inspire _

(2) Indicate his mistakes

(3) Criticise him

(4) Do negative behaviour

Which of the following is not a
suitable technique used by teachers
for socializing the child ?

(1) Direct teaching

(2) Identification

(3) Democratic discipline

(4) Over-protection

Which of the following is a wrong

statement ~~about emotions of an

adolescent ?

(1)y Emotional expressions are
ed by learning.

ons are permanent.
(3) Every emotion is accompanied by
a feeling.
(4)

Emotions are aroused by external
stimuli.

Inclusive education means

(1) Meeting individual differences in
general classroom.

(2) Meeting individual differences in

different classroom.

(3) Meeting individual differences in

special schools.

(4)

Meeting individual differences in
- home based instruction.

2 T.0,
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In adolescence behaviour and attitude
are affected mostly by

(1) Teacher

(2) Parents

(3) Peer Groups

(4) Films

Moral values effectively
inculcated among the students when
teacher

can be

(1) Frequently talks about values.
(2) Himself practices them.

(3) Tells stories of good persons.
(4) Talks of Gods and Goddesses.

Critical thinking helps a person in

developing abilities and skills for
(1) providing concrete experiences.
(2) proper interpretation, analysis,

evaluation and inference.

(8) creating and constructing

something.

thinking about ways of reacting.

thod of dealing with adolescent
nts and teachers is

1) Autocratic (2) Permissive

(3) Democratic (4) Restrictive

Which of the following is not a
characteristic of social development in
adolescence ?

(1) Active member of their peer

group

(2) Being an attraction towards
opposite sex
(3) High decrease in friendly

relationship
(4) Extension of special interests
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10.

11.

12.

14.

Continuous

(2)

A

An adolescent uses her/his left hand
for performing act like taking food or
writing, this is developed due to

(1) Inherited behaviour

(2) Developmental behaviour

(3) Wrong behaviour

(4) All options are right

Discalculia is a problem related to the
problem of

(1) “Speaking accurately

(2) committing

Writing  without

mistakes
3
(4)

Listening message properly
Doing mathematical calculations

Comprehensive
Evaluation (CCE) aims to evaluate

(1)
(2

and

The reasoning of child only.

All aspects of ~development of
child. '
(3) The knowledge of child only.

(4)y The understanding of child only.

ic the following is not a trait
f a creative child ?

Elaboration

Originality

Accuracy

Novelty

1)

3
4

Learning outcomes means
(1) Change in the behaviour of the
student.
(2) Change in teaching method of the
teacher.
(3) Recognization of the subject-
matter.

4

Completion of content.

2,70
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15.

16.

19.

18.

Differentiation of emoﬁons takes
place at the time of

(1) Birth of child
(2) During infancy
(3) During the period of adolescence

(4) During adulthood

Which of the following provision is
not
differences among learners ?

(1)
@

suitable to meet individual

Their abilities should be assessed.

Adequate facilities and material
should be provided.

3
4

Labelling them.
Making Individualisation necessary.

Working with adolescents,
particularly maladjusted one, which is
not appropriate ?

)a‘ical approach
) ocratic approach

(3) Collective approach

(4) Ideal approach

Heredity plays most important role in
the

(1)

Emotional development of the
child

(2
(3)
(4)

Social development of the child
Physical development of the child

Cultural development of the child
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19.

20.

21.

22,

A

The
learning is must for a good teacher,

knowledge of principles of

because

(1) It helps in maintaining discipline.

(2) It helps to make content
interesting.
(3) It helps to understand the content

by simple methods.

It saves time.

4

Which of the following characteristic is
not correct about objective type testing ?

(1) Reliability (2) Objectivity
(3) Validity  (4) Subjectivity

Which of the
characteristics of

the
constructivist

following is

classroom ?

(1) Students
draws conclusions and compare
their findings.

design experiments,

) wledge is objective, universal
complete.

(3) Teacher transmits authoritative
knowledge to students.

(4) Students look for the
answer.

'right'

Which of the following is the primary

law of learning propounded by
Thorndike ?

(1) Law of analogy
(2) Law of exercise
(3) Law of assimilation

(4) Law of disposition

P.T.0,
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25,
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23.

24,

25,

27.

According to Piaget the child is able to
apply logical thoughts to all classes of
problems, this development occurs in
which of the following periods ?

(1) The formal operational period

(2) The concrete operational period
(3) The pre-operational period

(4) The sensory motor period

A child is average on creativity, high
in academic achievement, poor in
social development. This is an
example of

(1) Inter individual differences

(2) Intra individual differences

(3) Individual differences

(4) Measurable individual differences

That internal state of mind that
arouses, directs and
behaviour is called as
(1) Interest (2) Opinion
(3) Attitude  (4) Motivation

maintains

e people adjust easily with new
because they have high

(1) Intelligence Quotient (1.Q.).

(2) Academic Quotient (A.Q.).

(3) Emotional Quotient (E.Q.).

(4) Spiritual Quotient (S.Q.).
Development generally proceeds from

head to foot, this principle of
development is called

(1) Bilateral to unilateral
(2) Proximodistal

(3) General to specific
(4) Cephalo Caudal
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29,

30.
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28.

29.

A

A student is working hard for Board
Examination, his father has promised
to give him a motor cycle if he gets
good marks. This is

(1) Intrinsic motivation

(2) Extrinsic motivation

(3) Mathematical motivation

(4) Intrinsic and extrinsic motivation

Which of the following statements is not
correct about learner centred approach ?

(1) It takes into account learner's

capabilities, capacities and

learning styles.

It stresses the importance of

enquiry,

(2)
observation and

investigation.

(3) It transmitting
knowledge to the learner by the

emphasises

teacher.

(4)

It uses methods like experiential
learning, problem solving, concept

ing and creative writing.
aattitude 'T do not care' is a
type of behaviour which can be
called
(1) Aggression
(2) Defence
(3) Denial

(4) Retrogression

Level-3/169
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AT - III/PART - III
ST - 11 (S H)/LANGUAGE - II (ENGLISH)

Direction : Answer the following questions by selecting the most appropriate option.

61.

62,

63.

Choose the correct passive form of
the verb in bracket in the given

sentence :

I suddenly realized I (watch).
(1) am being watched -
(2) have been watched

(3) am watched

(4) was being watched

I must finish this.

The underlined word in the above

sentence indicates
(1) Necessity

(2) Determination
(3) Wish

(4) Habit

Choose the correct suffix to form the
word. The meaning of the word is
given :

Copi.......... = Plentiful

(2) some
(3) ose
(4) ful

Level-3/169

64.

65.

66.

‘T don't enjoy going to the dentist.’
The

sentence is a/an

word 'going' in the above
(1) Present participle

(2) Infinitive

(3) Perfect participle

(4) Gerund

Choose the correct indirect speech of

the given sentence :
Mother said, "Don't go to the park."

(1) Mother asked us not to go to the
park:

(2) Mother told us not to go to the

k.
a ather said us not to go to the

park.

(4) Mother said to us to not to go to
the park.

Which of the following expression

means 'extremely happy' ? .
(1) be a basket case

(2) fall off your perch

(3) be off your trolley

(4) on cloud nine



67. Choose the correct passive

construction of the sentence :

Auctioneers will sell the painting at

auction.

(1) The painting would be sold at

auction.

(2) The painting will be sold by the

auctioneers at auction.

(3) The painting will be sold at

auction.

(4) The painting will be selling at

auction.

68. Identify the figure of speech in the

following sentence :

I must be cruel, only to be kind.
(1) Epigram

(2) Paradox

(3) Analogy

(4) Metaphor

69. Which of the following words is mis-

spelt?

(1) incongruous
(2) chronological
(3) synchronus

(4) sympathetic

Level-3/169
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Direction : (Q. Nos. 70 to 74) : Select the

sentence that is grammatically correct :

70. (1) My brother is the student in
Mayo College.
(2) My brother is student of Mayo
College.
(3) My brother is a student in the
Mayo College.
(4) My brother is a student in Mayo
College.
71. (1) Neither of them were present
there.
(2) Neither of them was present
Q\er of them present there.
(4) Neither of them are present
there.
72. (1) The roses smell sweet.

(2)

The roses smell sweetly.

3)

The roses are smelling sweetly.

4)

The roses are sweetly smelling.

P. .0



73.

74,

75.

(16)

(1) You certainly did not ought to do 76. Choose the correct direct speech of
it the given reported speech :
) He said I'd better go because it was late.
(2) You certainly ought not to have
divisse (1) He said, "You'd better go because
it's late."
(3) You certainly did not ought to (2) He said, "I'd better go because it
have done it. was late."
(3) He said, "You'd better be gone
(4) You certainly ought not to have .
because it was late."
been done it.
(4) He said, "You'd better go because
it late."
(1) Who was the book given to ? 1 was fate
77. Which of the following is spelt
(2) Who the book was given to ? ik & otowiie a
correctly ?
(3) The book was given to who ? (1) Pediatrician
Padritician
(4) Whom was the book given to ?
a itrician
Choose  the correct phonetic 1diatrician
transcription of the word 'Locate’
78. In which of the following sentences do
we need to insert the definite article
(1) /luket/
‘the’ ?
) Nokeit/ (1) They are all busy growing things.
(2) We do not generally speak of
(8) /Nou'keit/ farmers 'growing animals'.
(3) Why do people work ?
4) /lauket/
B il (4) They are different from rest.

Level-3/169




79. Which of the following sentences is

correct ?

(1) My father's foot was put down
when I said I wanted a car for my
seventeenth birthday. He said I
was too young.

(2) My father down put the foot when

I said I wanted a car for my

seventeenth birthday. He said I

am too young.
(3) My father put his foot down when
I said I wanted a car for my
seventeenth birthday. He said I

was too young.

(4) All options are wrong

80. Since you were not there, I left a

message with your sister.

The underlined group of words in the

above sentence is a/an

(1) Noun Clause

(2) Adverb Clause of place
(3) Adverb Clause of time

(4) Adverb Clause of reason

Direction : (Q. Nos. 81 to 85) : Read the
following passage and answer the questions

by choosing most appropriate option :

Common sense is a rare and enviable
quality. It may be truly said that ‘its price is
above rubies’. How many learned men, how

many wits, how many geniuses, how many

Level-3/169
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A

dull and ignorant people, how many cunning
knaves, how many well-meaning fools are
without 1t ! How few have it, how little do
they or others know of it, except from the
infalliable results — for one of its first
absence of all

requisites is the utter

pretension.

The wvulgar laugh at the pedant and
enthusiast for the want of it, while they
themselves mistake bigotry and narrow
minded notions for it. It is not one of the
sciences, but has been well pronounced to be
'fairly worth the seven'. It is a kind of
mental instinct, that feels the air of truth
and propriety as the fingers feel objects of
touch. It does not consist with ignorance for
we cannot. pronounce on what we do not
know; and on the other hand, the laying in
of a stock of knowledge, or mastering any
antg or seience seems to destroy that native

to warp and trammel the

1 aom of mind which is

necessary to its receiving and giving their

due weight to ordinary and -casual
impressions.
81. Common sense is a rare and enviable

quality because

(1) Its price is above rubies
(2) All learned men have it
(3) All men are without it

(4) Very few have it

P10,
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82. What is not a requisite of common Direction : (@. Nos. 86 to 90) : Fill in the
sense ? blanks with the most suitable option :
(1) the utter absence of all
pretension 86. ........... child should learn to read and
(2) bigotry and narrow minded write.
notions (1) All (2) Every
(3) truth and propriety (3) Whole (4) Both

(4) an unbiased freedom of mind

87. Can I ask your ..........., do you think

. Which following i t
83 ich of the following is not stated TV violence is harmful 2

by the writer in the passage ?

(1) Affectation destroys common (1) opinion (2) favour

sense. (3) question (4) advice
(2) Common sense requires the

utmost simplicity and sincerity. 88. Where is my wallet ? I left it .............

(3) Common sense feels the air of the kitchen table.
truth and propriety as the fingers
feel objects of touch. (1) at (2) in
(4) Common  sense destroys the (8) 'on (4) by

native simplicity and warps and

trammels the freedom of mind. 9. ke some medicine and the pain will

84. Fill in/ the blank with the m :
appropriate word : @) off

Common sense has been well
. (3) out (4) away
pronounced to be ‘fairly worth the

90. The walkers finally arrived at their
(1) Notions (2) Sciences

destination. They ............. all day, and
(3) Talents (4) Wits they certainly needed a rest. They ......
thirty miles.

85. Which is not a synonym of the word
'pedant' ? (1) had been walking; had walked

(1) dogmatist
(2) formalist
(3) perfectionist
(4) down-to-earth (4) have been walking; had walked

(2) had walked; had been walking

(8) walked; walked

Level-3/169
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HIT-IV/PART -1V

7 / GEOGRAPHY
3T : frforge 7ot & awe &7 % g ge@ afrd RweT g

Direction : Answer the following questions-by selecting the most appropriate option.

91. =1 i gAfea T

92.

93.

AGE J&T%
(i) M ed  (a) @ oS
(i) Fd R (b) THUfEd 29 &
ST 3t o
(iii) 9T BT (¢) UHEWAYH I
forammet
(iv) =2 erld (d) e
LEIIRICE IS
ggHe R
@ (11) (111) (iv)
(1 (a) (b) (c) (d)
(2) (d) () (b) (a)
(3) (b) (@) (d) (¢
4) () - /(a) (d) (b)

Waﬁwﬂ?ﬁﬂa%fﬁﬁﬂ%a

(1) B sarr
(2) 3 yarT &
(3) &°f W |
(4) SENTT 9ATT H

FE-d ggd geEE @E B T
THFEFI Fadl & 7

(1) A g
) q-FEq g
(3) A qa

(4) T A

Level-3/169

91. Match the following :

dc

93,

. (iv) Richard.

Writer Book
(i) David Harvey (a) Die Erdkunde
(i) Carl Ritter (b) Perspectives
in the Nature
of Geography
(iii) Peter Haggett (c) Explanation
in Geography
(d) Locational

Hartshorne - Analysis in
Human
Geography
@) (1) (1i1) (iv)
(1) (a) (b) (O] (d)
(2) (&) (c) (b) (a)
(3) «(b) (@ - (d) (0
4) (© (a) (d) (b)
Alakhnanda  joins river
hi at

(1) Vishnu Prayag
(2) Dev Prayag

(3) Karn Prayag

(4) Badrinath Prayag

Which type of winds run almost
parallel to isobars ?

(1) Monsoonal winds
(2) Geostrophic winds
(3) Local winds

(4) Planetary winds

P.T.0.



94,

95.

96.

97.

98.

frffag & § #9-d1 @ @ g=q
T2 AR T & 7

(1) Feeirar s

(2) HRgET G

(3) UIRAT 3t

(4) IS AR

ARG SO e § #9-9 9%
i omden gfs W wOTee ofidl T
o ?

(1) 1891 - 1901
(3) 1911-1921 (4) 1921- 1931

yedl W A ged 6N R
forg - o & et & 7

(1) enygf () ST
3) SR (4) ST

Frfofea R wemrrdm el & @
HI-8 Fgaq TR B 2 /E 7

@) SE-gdl qEE A
(i) ofey fgEeREE am
(iii) PRl gHeRE A
(iv) afeoT-giREs Al
M @), i) M (i)

@ @), @) AR ()

(3) (i), (i) R (v)
@) (), (i), (i) A (iv)

FEilE g O S I S §

(2) 1901 - 1911

(1) S e FR 3 32r
2) qef @ B # ger
3) fammemr® < AR & "er
(4) & faseq T ¥
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94.

95.

96.

97.

adda

98.

Which among the following is the
world's largest inland water body ?

(1) Lake Victoria

(2) Caspian Sea

(3) Lake Superior

(4) Aral Sea

In the Indian Census History, in
which decade the population growth
rate was recorded negative ?

(1) 1891-1901 (2) 1901 - 1911

(3) 1911-1921 (4) 1921 - 1931
The last and most recent Ice-age on

the earth is associated with which
geological period ?

(1) Holocene
(3) Pliocene

(2) Pleistocene
(4) Miocene

Among the following Indian Ocean
currents which is/are seasonal in
nature ?

(1) North-east monsoon current

ii) Counter equatorial current

uthern equatorial current
th-west monsoon current

(1) (@), (i) and (iii)

(2) (i), (1) and (iv)

(3) (ii), (iii) and (iv)

(4) (i), (i), (ii1) and (iv)

Earthquakes and

Volcanoes are found along

Maximum

(1) Constructive Plate Margin
(2) Conservative Plate Margin
(3) Destructive Plate Margin

(4) All options are wrong



99

100

101

102.

103.

Leve

. BT T ARG b FA QA I
F oMY F A Iefed Fear & 7

(1) JAT JeqT
(2) Y qad
(3) W& W
(4) ToRIH
. 94 % OFER 3AEdl @ SHEed fawg §
HAlyF & U4 36% a1
1) g @ (2) giam ¥
@) s ¥ (4) g &
. BE-E Senfa el seenfa & @
qEg-fafr SR w8 ?
(1) g @)
(3) Wars (4) &
fr=1 @ gafoa iR ¢
&G B qor
() = (a) MR
(i) & (b) fferdr=a
(iii) H (¢) FafEN
(iv) qrar (d) i
@ (1) (ii1) (iv)
1 (a) (b) (© (d)
(2) (@ © (b) (a)
3) (b) (a) (d) ©
4 () (@ . (@ (b)
T B A T
(1) SE-H F JhaH, HAHEE 96
ST, TR T, G I &
(2) SH-A H L 9T awl, eI
(3) HRF &G M, VT gEAT TS,
ST T, G I B
() TH-HE H , SERHE AS
I, =T bl I, GAH I
—Eﬁ:" "
1-3/169

(21)

d

99.

100.

101.

102.

103.

A

Which State produces more than half
of the total soyabean production of
India ?

(1) Uttar Pradesh

(2) Andhra Pradesh

(3) Madhya Pradesh

(4) Rajasthan

According to religion Christians have
largest population in the world and
followed by

(1) Hindu (2) Muslim
(3) Buddhist (4) Jews

Which tribe does barter trade with

Pygmies ?
(1) Bushman (2) Bantu
(3) Masai (4) San
Match the following :
Shifting Country
Cultivation
(1) Chenna (a) Myanmar
(i) Tadang (b) Philippines
(11i) Kaingin (¢) Malaysia
iv) Taungya (d) Sri Lanka
' (i1) (iii) (iv)
)a (b) (c) (d)
) (c) (b) (a)
(3) (b) (a) (d) (c)
4) (© (a) (d) (b)

The hazardous effects of earthquakes
are

(1) Loss of Life and Property,
Occurrence of Flash Floods,
Fires, Origin of Tsunamis

Loss of Life and Property, Heavy
Rainfall, Fires, Origin  of
Tsunamis

Occurrence of Flash Floods,
Severe Drought, Fires, Origin of
Tsunamis

loss of - Life and Property,
Occurrence of Flash Floods, Origin
of Cyclones, Origin of Tsunamis

P.T.O.
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A

104.

105,

106.

107.

108.

109.

(22)

we fEdte e 3 ogar @l 3

(S B N O O o

e 8/8 7 _

(1) a9 Haag gmm

(2) @E qo FH F 4= TEEE
ST

(3) TS AR & W -9 &
B ST T

(4) | faeq W@ ¥

W-W%W%pHﬂEWW%

() 077
(2 79 14
(3) 09 5.6
4) 03 14

= d 8 #9-d1 arwaraie dea

TETe?
(2) TPy

(1) faa
(3) @& T (4) ey

= & & F9-91 78 g0 o9F Swe
T g ?

(1) 9 (2) T

(3) IHET (4) g5

IUAST P & AN B TV e
F ST @ & &9 § SE e o ?
(3) el

(4) ©9 &Y

TS sgeE Hifd (20000 § 2010 7%
Fr=1 4 9 frgd 100 wfase oofigq &
&g @ AT °9r ?

(1) T geiEd

(i) Hg GofgT

(iii) Mg Aigem el

(iv) faarE gegT

1) @), Gi), (i) N (Gv)

@) @), @) 3 (v)

(3) (i), (i) 3R (ii)

() (), (i) AT (iv)

(1) Y9MI T&T
(2) P &t
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104.

105,

106.

107.

108.

109,

According to Plate Tectonic Theory

which force/forces is/are responsible

for plate movements ?

(1) Thermal Convective Currents

(2) Gravity Gradient between Trench
and Ridges

(3): Push exerted by the crust at
Constructive Margins

(4) All options are right

pH value of water of acid-rain is
ranging between

(1) 0to 7

(2) 7to 14

(3) 0tob.6

(4) Oto 14

Which one among the following is not
intrusive feature ?
(1) Sill

(3) Lava plug

(2) Laccolith
(4) Batholith

Which of the following planet is
having largest number of satellites ?
(1) Saturn (2) Mars

(8).. Uranus (4) Neptune

During colonial era which canal was
opularly known as 'life line of

'
nama Canal
2 el Canal

(3) Ludwig Canal
(4) Suez Canal

The National Population Policy (2000)
targeted to achieve cent-percent
registration in the following by 2010
(1) Birth Registration

(i) Death Registration

(i11)) Pregnant Woman Registration
(iv) Marriage Registration

(1) (1), (i), (ii1) and (iv)

(2) @), (i) and (iv)

(3) (1), (i1) and (iii)

(4) (1), (iii) and (iv)



110.

111.

112,

113.

114.

115.

FE-T1 TE U & G Y T U
foode goi #var & ?

(1) g9 2 I

(3) I&T (4) gewfd

AR Rerid &1 Ae fohan e @

(1) 9-8dE T

(2) WA TE TT W

(3) agAvsd § 480 fhaniet @ Har
°E g

(4) agHvsd H 840 frardey @ o
q’{ .

fasg @1 e ©g Z0@ TS 2
(1) freae 2) ¥Wge
(3) Tgu (4) Fremsfewar

frfafead & 8 #9-8 -0 9rg et
T ¥ 7

() AR Tt

(ii) 999 T

(iii) JaTd St

(iv) STag el

(v) S Sl

1 @, @), @), Gv) IR v)
2) @), @), [i) &M Gv)

@) @), @), (v) IR )

@ @), @), @) T (V)
HIE WETAlN & Haius 9F Sded
FA a1 39 HA-TT & 7

(1) @ (2) rgentean

(3) fre (4) demtear

103° ¥ 143° % &9 A i
% fu e g3 8 7 Ll

(1) et ot

) fadims ot

(3) wraftp wg fachias o<t

(4) 99 9% T 2
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110.

111.

112,

113.

114.

115,

A

Which planet rotates' on its axis
opposite to other planets ?
(1) Mercury (2) Venus

(3) Neptune (4) dJupiter

~Solar constant is measured at

(1) Earth surface
(2)

(3)

Méan Sea Level

480 km above in the upper
atmosphere
(4) 840 km above in the wupper

atmosphere
Iron and Steel Capital of the world is
(1) Pittsburgh (2) Detroit
(3) Duluth (4) Philadelphia

Which of the following are non-
conventional energy resources ?

(1) Solar Energy
(i1) Wind Energy
(iii) Geo-thermal Energy

(iwy Hydro-electricity
Energy
), ((iii), (iv) and (v)
1), (1), (11) and (iv)

(3) (@), (1), (v) and (v)

(4) (@), (i), (iii) and (v)

Which is the largest tea producing
country of Africa ?
(1) Kenya

(3) Egypt

103° to 143° is a shadow zone for
which seismic waves ?

(2) Nigeria
(4) Tanzania

(1) Primary Waves
(2) Secondary Waves
(3) Primary and Secondary Waves

(4) All options are wrong

P.T.0.
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116. ween e sm@ fFed o &

117.

118.

fer us HewEqel giftaa o ® 7

G) fofr g

(ii) ST G

(iil) FEE IR F WL T SEEE
%l g

(iv) Sg HTE

(1) @), (i), i) M (v)

@) @), (i) 8 (i)

(3) (i), @ii) 9T (iv)

(@) @), (i) T (Gv)

(24)

116. Population Pyramid Diagram is an

important statistical diagram for the

comparison of

(i) Sex composition

(i) Employment structure

(iii) Status of population change and
Age of the population

(iv) Age structure

(1) (1), (1), (1ii) and (1v)

(2) (@), (1) and (iv)

(3) (1), (iii) and (iv)

(4) (i), (iii) and (iv)

=t ﬁefﬁﬂﬂ FifoT 117. Match the following :
(a) HIET (i) i HgE (a) Kober (i) Thermal
R Contraction
Theory
(b) B (i1) EH;Iﬁ'T ferfores (b) Holmes (1) Geosynclinal
[SE-ARS| Orogen Theory
(c) SIS (iii) TG HaEE (¢) Jeffreys  (iii) Thermal
CIEU S EA L Convection
Current Theory
(d) s (iv) Heremg e (d) Daily (iv) Continental
AR | Sliding Theory
O G G Gv) a d da G G @)
(1) (a) (b) (c) (d) (b) (c) (d)
(2) @ (c) (b) (a) (2) (d) (c) (b) (a)
(3) (b) (a) (d) (© (3) (b) (a) (d) (c)
(4) (o) (a) (b) (d) 4) (© (a) (b) (d)

frr & § R omresTed ufter § e
fepam e ® 7

(i) SA9EY

(i) HAIEA

(iii) &y

1) @), Gi) M (i)
@) (i) 3T (i) "
(3) (i) 8% (iii) 5=
(4) () R (iii) 7=

Level-3/169

118.

Which among the following are
included in Denudation Process ?

(i) Weathering

(i1) Erosion

(ii1) Deposition

(1) (1), (1) and (iii)
(2) (i) and (ii) only
(3) (ii) and (iii) only
(4) (i) and (iii) only



119.

120.

121.

122.

123.

Frfofgg & & f9-01 el &1 R
XA % dad Th o9 § 97 Al & 7
(1) Hager

(2) 3T

(3) STEE

(4) Tt foepeq o €

wd o A R s
v frafed gergl @ BeEsT S
FEadl &

(1) s o o

(2) 9T @ 9%

(3) fet 9

(4) | Frepeg e &

T P AEAH B gy § fasg @ g9
e 7 B

(1) i T4

(2) IS T

(3) TFTEAANT A<l

(4) frg

L]
&

H

AT FTE & &

(1) 78 & & &7

(2) 999 % F4 &

(3) feue & # &

(4) TrTE @&l @ & B

1 &1 gafoa @i ¢
7
(A) urafis
B) fadas

(C) el
(D) agds
6)
(1) (@A)
2 (D),
3) B
4) (C)

%
() frelimEg
(i) FIETTHE
(iil) WG
(iv) <A
(iii) (iv)
©) (D)
(B) (A)
(D) ©
(B) (D)

(i1)
(B)
(©€)
(A)
(A)
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121.

122,
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123.

A

Which of the following hill is spread
only in one State of India ?

(1) Satpura

(2) Ajanta

(3) Aravalli

(4) All options are wrong

Volcanic cone which is formed with
volcanic ash and tephra, is called

(1) Basic Lava cone

(2) Acid Lava cone

(3) Cinder cone

(4) All options are wrong

The largest river of the world in
terms of volume of water is

(1) Nile River

(2) Amazon River

(3) Yangtze Kiang River

(4) Indus Raver

Plunge Pools are formed by

)..River action
) d action
) cial action

(4) Sea-wave action

Match the following :
Epoch - Geological Period
(A) Primary (1) Cretaceous

(B) Secondary
(C) Tertiary
(D) Quaternary

(i1) Carboniferous
(ii1) Pleistocene
(iv) Pliocene

@ (it) (iii) (iv)
(1 &) (B) (©) D)
2 (D) (©) B) (A)
3) (B) &) D) ©)
4) (©) (A) (B) (D)

P.T.O.
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124, 9 faHE gEHE (36 2012)
g % IRA HHd faeE
g ol  omar 7

el
6l

(1) ofq 3= 999 g
(2) 3= AT fqerd
(3) 9 MY fas
(4) =1 999 fae

foeg gef W R S9-ffde
ge-wie g o1 § 7

(1) 14 (2) 18

(3) 20 (4) 24

B I, g g #1 ong §

(1) 3600 fferms ad § aif

(2) 2600 fferEs

(3) 1600 fferas ad

(4) 600 fferas ad

ed Te W
(1) COg, CFC, s, HigH, st

(2) COg, CFC, NO,, #1394, Wa

(3) COy, CFC, Si@ars, HaH, O,

125.

126.

127.

(4) COg, CFC, Samd, HidH, NO,

128, freifoigd & & @9-91 % FRF

qE g @ I@n & fe Saeert
T ?

(1) T8/ ga+

(2) HFRE S & a9 Td qgordn

(3) ST €M
(4) g= 1 9o i
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124, According to the Human
Development Index (Year 2012)
ranking, India is falling in which
category of human development ?

(1) Very high human development
(2) High human development

(3) Medium human development
(4) Low human development

125. How many Bio-diversity Hot-spots
are found on the world map ?
(1) 14 (2) 18
3) 20 (4) 24

126. The age of our planet i.e. Earth is
(1) More than 3600 million years
(2) 2600 million years
(3) 1600 million years
(4) 600 million years

127." The Green House Gases are

(1) COgy, CFC, Water-vapour,

ethane, Argon
0y, CFC, NOg, Methane, Neon

(3) COq, CFC, Water-vapour,
Methane, Oy

(4) CO,, CFC, Water-vapour,
Methane, NOy

128. Which one of the following is not
considered as responsible factor for

origin of oceanic currents ?
(1) Planetary winds

(2) Temperature and salinity of

Oceanic water
(3) dJet stream

(4) Rotation of earth
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A

Which country produces maximum
rice in the world ?

(1) India (2) Indonesia

(3) Bangladesh (4) China

The Demographic Transition Modal is
based on

(1) Human Mobility

(2) Migration

(3) Natural Growth of Population

(4) All options are wrong

Love and Rayleigh waves are
(1) Primary Waves

(2) Secondary Waves

(3) Surface Waves

(4) All options are wrong

Which country has the maximum
population of immigrants ?

(1) United States of America

(2) Saudi Arabia

(3) France

(4). South"Africa

Which paradigm focuses on the
consciousness and value of individual ?
viourism
onmental Determinism
(3) Humanism
(4) Positivism
Anatolian Plateau is  situated
between .................... mountains.
(1) Carpathians and Dinaric Alps
(2) Pontic and Taurus
(3) Pyrenees and Atlas
(4) Elburz and Zagros

High-grade iron ore deposits in India
are mainly found at

(1) Bailadila (Chhattisgarh)

(2) Noamundi and Gua (Jharkhand)
(3) Gorumahisani (Orissa)

(4) All options are wrong

P. T.0.
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137.

138.

139.

140,

(1) ==H & ToeEET g & axE]

(2) THH & THARNT §q § FAT

(3) T=W & TEAFNY q@ A HT
T

(4) = P TR & A I
G HeH YW IS &l © ¢

(1) R, go THo To
(2) I, Jo TdHo To
(3) 3T, Jo THo Uo
(4) ¥, Jo THo Uo

FA-dvel AR 8
(1) wrefie fomar
OREGIEERED
(3) el A
(4) TguH e

R H 2011 F SEEEL F AR
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QAT BT 90 Nfdad & o1 & ?

(1) 1871 (2) 2 3T 1
(3) 3 3T 2 (4) 4 AT 2
et § | Fi-a1/@A-8 gafr &/8 7

EGRC I EVE LI BT

e e
(i) T TR - HHOI
(i) s - AR
(iii) HTZH > fe
(iv) T Ge&IT - [

(1) @), (i) 3T (i)
@) (), (i) 3 ()
3) (if), (iii) ¥ (Gv)
@) (), Gi), (i) M (@)
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136.

137.

138.

39.

140.

The gravitational force of the sun on
the earth is

(1) Equal to the gravitational force of
moon

(2) Almost double to the
gravitational force of moon

(3) About half of the gravitational
force of moon

(4) Three times greater than the
gravitational force of moon

Where is the Valley of ten thousand
smokes ?

(1) California, USA
(2) New York, USA
(3) Arkansas, USA
(4) Alaska, USA

Call-center business is a
(1) Primary activity

(2) Secondary activity
(3) Teriiary activity

(4) Quaternary activity

ccording to Census 2011, how
States and Union Territories

ia are showing literacy rate

an 90% ?
(1) 1and1 (2) 2and 1
(3) 3and?2 (4) 4and 2

Which is/are correctly matched ?
Original Igneous/ Metamorphic

Sedimentary Rock Rock

(1) Limestone —  Marble

(i) Gabro - —  Serpentine
(iii) Mica —  Schist

(iv) Sandstone — Gneiss

(1) (), (1) and (iii)
(2) (1), (i1) and (iv)
(3) (i), (iii) and (iv)
4) (), (i), (iii) and (iv)
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(4) T T 25 vew

2011 I TFOFT B qd § 9

feFmgar (0 - 6 a9 oY) @
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() &

(ii) ST

(iii) Taf=ET
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A

141. Which are the two leading States of

India in the field of
production ?

(1) Maharashtra and Gujarat
(2) Rajasthan and Andhra Pradesh

(3) Madhya Pradesh
Maharashtra

(4) Rajasthan and Madhya Pradesh

oil-seed

and

142. According to Census 2011, the child

sex-ratio (age 0-6 years) in India is
(1) 933 (2) 927
(3) 919 . (4) 909

143. Kathiyawar peninsula is an example of
(1) Ria Coast

(2) Fiord Coast

(3) Emerged Coast

(4) Submerged Coast

Which are the countries

population growth rate is negative ?
ary
n

(iii) Romania

144 where

(iv) Greece

(1) @), (i), (iii) and (iv)
(2) (), (i) and (iv)

(8) (i), (iii) and (iv)
(4) @), (i) and (iv)

145. The residual part of 'Panthalassa' is
known as

(1) Atlantic Ocean

(2) Indian Ocean

(8) Arctic Ocean

(4) Pacific Ocean

P.T.O.
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146.

147.

148.

149.

150.

deEe et & Fmior 3 R sEes @
(1) I a9+ tF 1 aui

(2) I=9 A9 Ug 9 a9t

3) 1 aE wd e gt
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(4) ¢TKs

IRd 1 FH-91. TG Iel-
garal | auf # Wi &Har g 7
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146.

147.

148.

150.

Formation of laterite soil requires

(1) High temperature and low
rainfall

(2) High temperature and heavy
rainfall

(3) Low temperaturé and low rainfall

(4) Low temperature and moderate
rainfall

Which organisation declared Pluto a
dwarf planet in 2006 ?

(1) International Astronomical Union
(2) International Geographical Union
(3) American Association of Geography
(4) Geographical Information System

Tropical continental warm unstable
air-mass is denoted by

(1) cTKu (2) ¢cTWu
(3) cTWs (4) ¢TKs

State of India receives rain
rth-east monsoon winds ?

(1) Tamil Nadu

(2) Orissa

(3) Andhra Pradesh
(4) Gujarat

GIS is an abbreviation of

(1) General Intelligence Surveillance
(2) Global Information System

(3) Geographical Inventory Service
(4) Geographical Information System

Level-3/169
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10.

11.

12.

13.

. Eac

16.

17.
18.

19.
20.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below : :

O e O® &

The answer will be treated wrong, if it is marked, as
given below :

o ® © &

If you fill more than one circle it will be treated as a
wrong answer.

. Rough work should be done only in the space provided

in the Test Booklet for the same.

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

. Out of the four alternatives for each question, only one

circle for the most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to
be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidates aremot allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

andidate must show on demand his/her Admit

.) to the Invigilator.
e, ‘without special permission of the
i t or Invigilator, should leave his/her seat.

The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty and sign the Attendance Sheet twice.
Cases where a candidate has not signed the Attendance
Sheet second time will be deemed not to have handed
over the Answer Sheet and dealt with as an unfair means
case. Female candidates have to affix right hand thumb
impression whereas male candidates have to affix left hand
thumb impression on the OMR answer sheet at the place
specified which should be properly inked i.e. they should not be
either over inked or dried in nature.

Use of Electronic/Manual Calculator is prohibited.

The candidates are governed by Guidelines/Procedure
given in the Information bulletin, all Rules and
Regulations of the Board with regard to their conduct in
the Examination Hall. All cases of unfair means will be
dealt with as per Rules and Regulations of the Board.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to-the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.
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